1. a. Find the actual sum aither on paper or using mental math. Round each addend 1o the nearest
hundred and find the estimated sums.

B B C

451 + 253 = :%GH_ 356 +161 =_517 652 +158 = BIp
Eop + 300 _Boo Woo + 200 = OO Joo + 20 = 9pp

451 + 248 = 100 356 + 148 = 504 547 +158 = BO

g0 420 . Yoo 4 ioo - (So0) 600 + 200 - (§po)

448 + 249 =697 347 +149 = Y96 847 + 146 = _193
Eﬁﬂ:_@ 300 4 100 = YCo €0p + 100 = _JoD
Circle the estimated sum that Circle the estimated sum that Cirche the estimated surm that
is the closast to its real sum. is the closest to its real swm. is the closest to its real sum.

b. Look at the sums that gave the most precise estimates. Explain below whal they have In common.
You might use a number ling to support your explanaticn,

All of the numbers we added were really clese the [’IHI-FWﬂ)r

F{:[rﬁ_ In +he eums +hgt qave +the most precise -e-g-l-fma-}e_;;
one number nlway'-; rounded up and ohe number always
tounded down. So, they balanced each other out and
ﬂmfe the most precice eskimate

For erample in part A, 451+249= Joo
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2. lanet watches a movie that is 94 minutes long on Friday night. She watches a movie that is 151 minutes
long on Saturday night.

a. Decide how to round the minutes. Then estimate the total minutes Janet watched movies on Friday
AN epmin + G0 min = 240 minutes
Blai150 secided 4o vound to Fhe nearest 10 minutes and
44290 Lound Toret wolched about 240 minvtes in total

b. How much time does Janet actually spend watching movies?

151 Aia & A i = 24S rmin.

Jaret actually cperds 245 minutes walching movies.

¢. Explain whether your estimated sum is close to the actual sum. Round in a different way and see
which estimate is closer.

1512200 Yes +he eermoted Sum is close 4o the real sum. Qaunr.iir'g 1o +he
M nearest ren minutes was only 5 minutes away Ham Hhe real Sum .
But when T rownd +o the nearerd 100 the eshmate is not as clese fo
“+he achual S v,
3. Sadie, the bear at the 200, weighs 182 kilograms. Her cub weighs 74 kilograms.

a. Estimate the total weight of Sadie and her cub using whatever method you think best.
122 %130 \B0+T10 =250
P .
™ 50 il hlwu'ﬂ'h‘fol? Sodie and her cubis about

150 klegams .
b. What Is the actual weight of Sadie and her cub? Model the problem with a tape diagram.

182 [ 182 wlograms | ks |
+ 74
— L___‘/w—-—\_r—‘}
25k 7Kg he achual weight of Sadie
o ard her cup 1S 250 Jl"—n|t:l\-_'?j"-ﬂ't'l"""'~5*




